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QUESTION 1

When a new Service Provider is created, OTM automatically does which of the following? 

A. OTM assigns the default Calendar defined in the Parameter Set. 

B. OTM associates the Service Provider calendar with the calendar of the CORPORATION ID identified during setup. 

C. OTM sends an email or fax to the Service Provider contact, depending on the contact\\'s preferred contact method. 

D. OTM creates a corresponding LOCATION, with the location Role of "CARRIER". 

Correct Answer: A 

 

QUESTION 2

Which two options must be defined for shipment planning? (Choose two.) 

A. Equipment Group Profile 

B. Equipment Group 

C. Equipment Type 

D. Equipment Class 

E. Equipment 

Correct Answer: CE 

 

QUESTION 3

Identify the incorrect option about the commodity setup. 

A. Incompatible commodities can be captured while defining a commodity. 

B. Specific temperature controls cannot be assigned while defining a commodity. 

C. You can select transportation modes while defining a commodity. 

D. You can link commodity with equipment types while defining a new commodity. 

Correct Answer: B 

 

QUESTION 4

When assigning rules to service providers to support Freight Payment, which two statements are true? (Choose two.) 

A. One can assign a match rule profile and an approval rule profile to a service provider. 
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B. Each service provider can have only one match rule profile assigned. 

C. The Autopay check box should be selected for the rules to apply. 

D. The rules cannot be changed once assigned to a service provider. 

Correct Answer: BC 

 

QUESTION 5

Which output option from the below is available for exporting data using the CSV Export function? 

A. browser window 

B. a file on your database server 

C. MS Excel 

D. text editor programs such as Notepad 

Correct Answer: B 
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